**Event Number** E-06-24

**Event Title** Lift Station 92 Rehabilitation

Event Type ITB

 Issue Date
 12/14/2023 05:00:03 PM (ET)

 Close Date
 2/27/2024 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
Southeastern Engineering					
Contractors, Inc.	Pembroke Pines	FL	2/27/2024 12:07:20 PM (ET)	60	\$1,496,789.00
Trio Development					
Corporation	Pompano Beach	FL	2/27/2024 12:54:12 PM (ET)	60	\$1,608,960.00
Southern Underground					
Industries	Pompano Beach	FL	2/27/2024 01:26:12 PM (ET)	60	\$1,829,638.00
PRM Engineering &					
Contracting	Fort Lauderdale	FL	2/27/2024 01:03:57 PM (ET)	60	\$1,984,141.32

				Southeastern Engineering Contractors, Inc.		Trio Developm	elopment Corporation South		Southern Underground Industries		PRM Engineering & Contracting	
				Total Price \$1,496,789.0		Total Price	\$1,608,960.00	Total Price	\$1,829,638.00	Total Price	\$1,984,141.32	
Line	Description	QTY	MOU	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	
1	Bonds & Insurance	1	LS	\$36,160.00	\$36,160.00	\$40,000.00	\$40,000.00	\$49,000.00	\$49,000.00	\$34,500.00	\$34,500.00	
2	Mobilization	1	LS	\$65,480.00	\$65,480.00	\$80,000.00	\$80,000.00	\$50,000.00	\$50,000.00	\$48,300.00	\$48,300.00	
3	Maintenance of Traffic	1	LS	\$12,544.00	\$12,544.00	\$6,000.00	\$6,000.00	\$25,400.00	\$25,400.00	\$13,800.00	\$13,800.00	
4	Operate & Maintain Bypass Pumping Operations	1	LS	\$68,400.00	\$68,400.00	\$60,000.00	\$60,000.00	\$43,000.00	\$43,000.00	\$10,350.00	\$10,350.00	
5	Indemnification for Owner/Engineer	1	LS	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	
6	Permit Fees and Required Testing	1	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
7	FPL Allowance	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	
8	Owners Construction Contingency	1	LS	\$38,000.00	\$38,000.00	\$38,000.00	\$38,000.00	\$38,000.00	\$38,000.00	\$38,000.00	\$38,000.00	
9	Remove & Dispose of Existing Asphalt Surface	130	SY	\$16.00	\$2,080.00	\$4.20	\$546.00	\$105.00	\$13,650.00	\$69.00	\$8,970.00	
10	Remove & Dispose of Existing Concrete Slab	15	SY	\$39.00	\$585.00	\$16.60	\$249.00	\$365.00	\$5,475.00	\$276.00	\$4,140.00	
11	Remove & Dispose of Existing Limerock Base Material	130	SY	\$9.00	\$1,170.00	\$4.00	\$520.00	\$105.00	\$13,650.00	\$89.70	\$11,661.00	
12	Mill Existing Asphalt Surface	175	SY	\$16.00	\$2,800.00	\$36.00	\$6,300.00	\$64.00	\$11,200.00	\$138.00	\$24,150.00	
13	Remove Existing Trees 8"-18" Dia.	4	EA	\$640.00	\$2,560.00	\$600.00	\$2,400.00	\$2,740.00	\$10,960.00	\$1,725.00	\$6,900.00	
14	Remove & Salvage Existing Pumps and Appurtenances	1	LS	\$9,220.00	\$9,220.00	\$18,000.00	\$18,000.00	\$9,200.00	\$9,200.00	\$13,800.00	\$13,800.00	
15	Abandon Existing 6" Forcemain	106	LF	\$109.00	\$11,554.00	\$30.00	\$3,180.00	\$103.00	\$10,918.00	\$172.50	\$18,285.00	
16	Remove Existing Electrical Panels and Components	1	LS	\$15,360.00	\$15,360.00	\$20,000.00	\$20,000.00	\$6,200.00	\$6,200.00	\$11,040.00	\$11,040.00	
17	Remove and Demolish Existing Valve Vault	1	LS	\$3,072.00	\$3,072.00	\$15,000.00	\$15,000.00	\$8,200.00	\$8,200.00	\$2,760.00	\$2,760.00	
18	Furnish & Install Precast Concrete (8' DIA) Wet Well with Top Slab and Hatch	1	EA	\$172,110.00	\$172,110.00	\$450,000.00	\$450,000.00	\$207,000.00	\$207,000.00	\$437,645.17	\$437,645.17	
19	Furnish & Install Precast Concrete (6'x6') Valve Vault with Top Slab and Hatch	1	EA	\$36,050.00	\$36,050.00	\$30,000.00	\$30,000.00	\$32,000.00	\$32,000.00	\$34,500.00	\$34,500.00	
20	Core Existing Wet Well	1	EA	\$1,920.00	\$1,920.00	\$2,000.00	\$2,000.00	\$690.00	\$690.00	\$2,070.00	\$2,070.00	
21	Grout Existing Wet Well	1	EA	\$10,176.00	\$10,176.00	\$5,000.00	\$5,000.00	\$3,800.00	\$3,800.00	\$2,070.00	\$2,070.00	
22	Furnish & Install Concrete Top Slab on Existing Wet Well	1	EA	\$3,115.00	\$3,115.00	\$16,000.00	\$16,000.00	\$23,500.00	\$23,500.00	\$6,900.00	\$6,900.00	
23	Plug Existing Wet Well Openings	1	EA	\$1,152.00	\$1,152.00	\$500.00	\$500.00	\$4,700.00	\$4,700.00	\$4,140.00	\$4,140.00	

				Southeastern Engineering Contractors, Inc.		Trio Developm	evelonment Cornoration I		Inderground Istries	PRM Engineering & Contracting	
				Total Price \$1,496,789.00		<b>Total Price</b>	\$1,608,960.00	Total Price	\$1,829,638.00	Total Price	\$1,984,141.32
Line	Description	QTY	MOU	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
24	Apply SewperCoat PG to Wet Well Interior	1	LS	\$9,600.00	\$9,600.00	\$24,000.00	\$24,000.00	\$51,000.00	\$51,000.00	\$6,900.00	\$6,900.00
25	Furnish & Install 8" PVC Gravity Sewer	14	LF	\$745.00	\$10,430.00	\$3,000.00	\$42,000.00	\$4,200.00	\$58,800.00	\$414.00	\$5,796.00
26	Furnish & Install 6" DIP Force Main	8	LF	\$268.00	\$2,144.00	\$380.00	\$3,040.00	\$255.00	\$2,040.00	\$207.00	\$1,656.00
27	Furnish & Install 8" DIP Force Main	135	LF	\$140.00	\$18,900.00	\$400.00	\$54,000.00	\$255.00	\$34,425.00	\$140.00	\$18,900.00
28	Furnish & Install 6" DIP Internal Piping	100	LF	\$795.00	\$79,500.00	\$150.00	\$15,000.00	\$400.00	\$40,000.00	\$82.80	\$8,280.00
29	Furnish & Install 6" Plug Valve	3	EA	\$5,760.00	\$17,280.00	\$5,300.00	\$15,900.00	\$2,460.00	\$7,380.00	\$828.00	\$2,484.00
30	Furnish & Install 6" Check Valve	2	EA	\$3,552.00	\$7,104.00	\$5,800.00	\$11,600.00	\$3,000.00	\$6,000.00	\$828.00	\$1,656.00
31	Furnish & Install DIP Full Body Fittings	2	TON	\$1,856.00	\$3,712.00	\$100.00	\$200.00	\$8,000.00	\$16,000.00	\$3,450.00	\$6,900.00
32	Furnish & Install Pump Bypass Assembly	1	LS	\$2,688.00	\$2,688.00	\$8,500.00	\$8,500.00	\$51,000.00	\$51,000.00	\$6,900.00	\$6,900.00
33	Furnish & Install Pump Base Elbow	2	EA	\$3,968.00	\$7,936.00	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$11,040.00	\$22,080.00
34	Furnish and Install 2 Submersible Pumps and Associated Hardware	1	LS	\$350,464.00	\$350,464.00	\$220,000.00	\$220,000.00	\$399,000.00	\$399,000.00	\$582,496.00	\$582,496.00
35	Furnish & Install Level Transducer Sensor	1	EA	\$9,472.00	\$9,472.00	\$2,000.00	\$2,000.00	\$5,800.00	\$5,800.00	\$10,350.00	\$10,350.00
36	Furnish & Install Floats	1	EA	\$5,632.00	\$5,632.00	\$500.00	\$500.00	\$4,400.00	\$4,400.00	\$10,350.00	\$10,350.00
37	Furnish & Install Pressure Gauges Assembly at Valve Vault	1	EA	\$3 <i>,</i> 584.00	\$3,584.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$5,520.00	\$5,520.00
38	Furnish & Install Vent Assembly with Odor Control at Wetwell	1	EA	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$8,400.00	\$8,400.00	\$6,900.00	\$6,900.00
39	Furnish and Install 2" PVC drain with P-trap	1	EA	\$1,680.00	\$1,680.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00	\$3,450.00	\$3,450.00
40	Connection to Existing 6" Force Main	1	EA	\$2,480.00	\$2,480.00	\$8,000.00	\$8,000.00	\$3,400.00	\$3,400.00	\$6,900.00	\$6,900.00
41	Furnish & Install 2" Water Service	1	EA	\$4,712.00	\$4,712.00	\$4,000.00	\$4,000.00	\$4,600.00	\$4,600.00	\$11,040.00	\$11,040.00
42	Remove and Relocate Water Meter and Backflow Preventer	1	LS	\$3,392.00	\$3,392.00	\$2,200.00	\$2,200.00	\$3,300.00	\$3,300.00	\$3,450.00	\$3,450.00
43	FPL Service Demolition & Replacement of new 480V aerial Tx bank	1	LS	\$5 <i>,</i> 888.00	\$5,888.00	\$1,000.00	\$1,000.00	\$13,500.00	\$13,500.00	\$75,900.00	\$75,900.00
44	New UG 480V sevice to pole/handhole from proposed meter	1	LS	\$8,448.00	\$8,448.00	\$10,000.00	\$10,000.00	\$34,200.00	\$34,200.00	\$75,900.00	\$75,900.00
45	Electrical power and control Conduit and Wire, grounding	1	LS	\$12,800.00	\$12,800.00	\$20,000.00	\$20,000.00	\$37,500.00	\$37,500.00	\$75,900.00	\$75,900.00
46	Service Metercan, Disconnect, rack mounted	1	LS	\$6,400.00	\$6,400.00	\$30,000.00	\$30,000.00	\$54,000.00	\$54,000.00	\$75,900.00	\$75,900.00

			Southeastern Engineering Contractors, Inc. Total Price \$1,496,789.00		Trio Development Corporation  Total Price \$1,608,960.00		Southern Underground Industries		PRM Engineering & Contracting		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
47	Duplex Control Panel /Terminal encl panel, pad for pnl	1	LS	\$210,560.00	\$210,560.00	\$200,000.00	\$200,000.00	\$103,000.00	\$103,000.00	\$55,200.00	\$55,200.00
48	Field instruments and installation (floats and level transmetter, PT, CGD)	1	LS	\$32,000.00	\$32,000.00	\$7,500.00	\$7,500.00	\$104,000.00	\$104,000.00	\$13,800.00	\$13,800.00
49	RTU programming @ LS CP and Owner Central Computer	1	LS	\$8,960.00	\$8,960.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00	\$6,900.00	\$6,900.00
50	New RTU Antenna tower, DFS CTU (in LS CP) Batt encl/Batt	1	LS	\$118,580.00	\$118,580.00	\$20,000.00	\$20,000.00	\$75,000.00	\$75,000.00	\$11,040.00	\$11,040.00
51	Stabilization of Subgrade	130	SY	\$39.00	\$5,070.00	\$42.00	\$5,460.00	\$103.00	\$13,390.00	\$41.40	\$5,382.00
52	Furnish & Compact Lime Rock Base Material	130	SY	\$52.00	\$6,760.00	\$58.00	\$7,540.00	\$130.00	\$16,900.00	\$78.86	\$10,251.80
53	Furnish & Place 1 1/4 inch Asphalt Concrete Pavement Type S-1 1st Lift	130	SY	\$26.00	\$3,380.00	\$66.00	\$8,580.00	\$66.00	\$8,580.00	\$283.00	\$36,790.00
54	Furnish & Install 3/4 inch Asphalt Concrete Pavement Type S-III 2nd Lift	305	SY	\$24.00	\$7,320.00	\$63.00	\$19,215.00	\$39.00	\$11,895.00	\$88.34	\$26,943.70
55	Furnish & Install Concrete Slab	25	SY	\$116.00	\$2,900.00	\$350.00	\$8,750.00	\$250.00	\$6,250.00	\$414.00	\$10,350.00
56	Furnish and Install Type-D Curb	25	LF	\$39.00	\$975.00	\$42.00	\$1,050.00	\$55.00	\$1,375.00	\$138.00	\$3,450.00
57	Clear and Grade	85	SY	\$26.00	\$2,210.00	\$12.00	\$1,020.00	\$80.00	\$6,800.00	\$73.10	\$6,213.50
58	Furnish & Install Sod (Match Existing)	85	SY	\$30.00	\$2,550.00	\$20.00	\$1,700.00	\$10.00	\$850.00	\$64.95	\$5,520.75
59	Furnish & Install 8" to 18" Dia. Tree	5	EA	\$1,920.00	\$9,600.00	\$1,600.00	\$8,000.00	\$3,300.00	\$16,500.00	\$3,450.00	\$17,250.00
60	Furnish & Place 6" White Solid Pavement Marking	80	LF	\$32.00	\$2,560.00	\$25.00	\$2,000.00	\$25.00	\$2,000.00	\$43.13	\$3,450.40

		Southeastern		Southern	
		Engineering	Trio Development	Underground	PRM Engineering
Line	Attribute Name	Contractors, Inc.	Corporation	Industries	& Contracting
1	Substantial Project				
1	Completion	270	365	240	120
2	Final Project Completion	30	60	30	30
3	Total Project Completion	300	410	270	150
4	Conflict of Interest	No	No	No	No
5	Drug-Free Workplace	Yes	Yes	Yes	Yes
6	Vendor Certification Regarding Scrutinized Companies Lists (Over \$1,000,000.00)	Certified	Certified	Certified	Certified